Stage 1
Children will subtract two numbers by taking one away from
the other and counting how many are left.
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Stage 2

Children move on to using Base 10 equipment alongside a
number track to support their developing understanding of
subtraction.
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Stage 3

Children continue to use the Base 10 equipment to support
their calculations. They will record their own drawings of the
Base 10 equipment, using lines for 10 rods and dots for the
unit blocks.
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This is the final stage of the process and will continue to be
used with larger numbers and numbers involving decimals.




